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%LVQLV� MDVD� KXNXP�PHUXSDNDQ� VXDWX� ELVQLV� \DQJ� WLGDN�PHPEXWXKNDQ� LQYHVWDVL�

PRGDO� \DQJ� VDQJDW� EHVDU�� 'DODP� PHQMDODQNDQ� ELVQLV� MDVD� KXNXP� KDUXV�

PHPSHUWLPEDQJNDQ� EHUEDJDL� KDO� VHSHUWL� NRQGLVL� SDVDU�� VXPEHU� GD\D�� VWUDWHJL�

SHPDVDUDQ�� VHUWD� SHQJDPELODQ�NHSXWXVDQ� EHUGDVDUNDQ� DQDOLVD��%LVQLV� MDVD� KXNXP� MXJD�

PHUXSDNDQ� VXDWX� ELVQLV� \DQJ� WLGDN� KDQ\D� EHURULHQWDVL� SDGD� KDVLO� QDPXQ� MXJD� SDGD�

SURVHV� \DQJ� GLODNXNDQ�� 6DDW� LQL� SHUVDLQJDQ� VHPDNLQ� PHQLQJNDW� NDUHQD� EDQ\DNQ\D�

NRQVXOWDQ� KXNXP� EDUX� \DQJ� EHUPXQFXODQ� GDQ� SHQDZDUDQ� KDUJD� \DQJ� VHPDNLQ�

PHQLQJNDW��.LQHUMD�SHUXVDKDDQ�PHQMDGL� WHUJDQJJX�NDUHQDQ\D�KDUXV�GLODNXNDQ�HYDOXDVL�

NLQHUMD�� LQRYDVL� GDQ� VWUDWHJL� DJDU� WHWDS� GDSDW� EHUWDKDQ� GDQ� EHUVDLQJ� GL� SDVDU��

3HUVRDODQQ\D� DGDODK� EDJDLPDQD� FDUD� PHPSHUEDLNL� GDQ�PHQJXEDK� NHDGDDQ� LQL�� 6DODK�

VDWX� \DQJ� GLXVXONDQ� DGDODK� PHODNXNDQ� LQRYDVL� GDQ� PHQJNDML� PRGHO� ELVQLV�� 6HEXDK�

SURSRVDO�EDUX�\DQJ�VDDW�LQL�PHQMDGL�WUHQ�GL�EHEHUDSD�SHUXVDKDDQ�JOREDO�

8QWXN� LWX� GLODNXNDQ�SHQLQMDXDQ�PRGHO� ELVQLV� \DQJ� DGD� GHQJDQ�PHQJJXQDNDQ�

.DQYDV�0RGHO�%LVQLV�\DQJ�PHPHWDNDQ�PRGHO�ELVQLV�PHQMDGL�VHPELODQ�EORN�SHPEDQJXQ�

PRGHO ELVQLV�\DNQL��&XVWRPHU�6HJPHQW�6HJPHQ�3HODQJJDQ� 9DOXH�3URSRVLWLRQ�3URSRVLVL�

1LODL�� &KDQQHO�6DOXUDQ� 'LVWULEXVL�� &XVWRPHU� 5HODWLRQVKLS�+XEXQJDQ� GHQJDQ� NOLHQ�� �

5HYHQXH� 6WUHDP�$OLUDQ� 3HQGDSDWDQ�� .H\� 5HVRXUFHV�6XPEHU� 'D\D� .XQFL�� .H\�

$FWLYLWLHV�$NWLYLWDV�.XQFL� .H\�3DUWQHUVKLS�0LWUD�.XQFL��&RVW�6WUXFWXUH�6WUXNWXU�%LD\D��

-XJD�PHQJNDOLEUDVL�GHQJDQ� LVX�LVX�HNVWHUQDO DQWDUD� ODLQ��HNRQRPL�PDNUR�GDQ�NHNXDWDQ�

LQGXVWUL�

+DVLO� SHQLQMDXDQ� PRGHO� ELVQLV� \DQJ� DGD�� LVX�LVX� HNVWHUQDO� PRGHO� ELVQLV� GDQ�

SHQJHPEDQJDQ�NDQYDV�PRGHO�ELVQLV�EDUX�PHPEHULNDQ�UHNRPHQGDVL�EDKZD�SHUXVDKDDQ�

VHEDLNQ\D��PHUDQFDQJ�PRGHO�ELVQLV�EDUX�

.DWD�.XQFL�

.DQYDV�0RGHO�%LVQLV��3HQLQMDXDQ�0RGHO�%LVQLV��0RGHO�%LVQLV


